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9. MF output with rectangular pulse inputs.	

!
!
!
!

! Page �  of �                                                                       9 12

(
\r%
.

ft
%
-‘
C4% (I
\

:
‘4
’

LI
’

-4
Ii

C-
’

-1
1

-1

(A c
j

1

I’

1-

4



EECS 4214! Assignment 3 Solutions! Fall 2015                                                                                                 

10. MF replaced with RC.	
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11. Sequence detector ideas.	

!
!

! Page �  of �                                                                       11 12

1
0
0

‘4
’ .4
—

-‘
-p

0

— .

(-
}

i-
I

‘N

)



EECS 4214! Assignment 3 Solutions! Fall 2015                                                                                                 

!
!
	

!
!
!
!
!
!
!
!
!

! Page �  of �                                                                       12 12

si

£iv1Iy,u L
4/e 1
it4 x7y
‘ ?4 7t//,S
howF7 Jv;7
fk CIttfr’Cr’

/1 7
,PTflS

(c,o)

(c)1)

I} i)
CJ) &)

3)

0

1 1j4

025

C.
-

3L/

I..’
1•

4d77

J}

pcrki4if1it $i 1’c,J
-O.z

si

£iv1Iy,u L
4/e 1
it4 x7y
‘ ?4 7t//,S
howF7 Jv;7
fk CIttfr’Cr’

/1 7
,PTflS

(c,o)

(c)1)

I} i)
CJ) &)

3)

0

1 1j4

025

C.
-

3L/

I..’
1•

4d77

J}

pcrki4if1it $i 1’c,J
-O.z


